b_ja’«rh? ,a<b

L “13ab-15,a2b

b (-2)@(3@2)=7

I egitlikh@iﬂ:minin gorevi belirlenmigtir. Buna
gore, Il. egitiikte soru isaretinin yerine agagidaki-
lerden hangisi gelmelidir?

In equation |, the operation of ® is established. |

According to this operation, which of the followin:
does the quastion mark stand for in equation i

A-5 B-1 Q7 D13 E)19

In the advition table abows, the letters a, b and ¢ |
each stand Mo a positive ndmber. Accordingly, what
is the value of k !

B8 C9 D10 E)11]

7
e

/ _./

!
|
i

2013-SUY0S

"

b | &

7

Yukandaki ¢ b

ve ¢ harfieri

¢ each stand for a positive number.
at is the value of a?

E)S
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4, - 5. sorularda verilen pargalar kullanilarak
olugturulan gekli bulunuz.

In questions 4 - 5, find the figure using given
fragments.

‘4
! | 6. - 8. sorulan drnekte verilen itlgkﬁe_ gbre
cevaplayiniz. 4

In questions 6 - 8, find the correct answer in

4l

the example below,

accordance with tho mlatiwmblished i

igure i

K, EhM, N ve P harfteri |. gekildeki gibi birbirine
. Tr. I. sekildeki baglant sayilan ve bir-

birine bagianan harfler defjismemek kosuluyla
il elde edilmigtir.

ters K, L, M, N and P are linked as in Figure |.
‘Figure 1l has been constructed so as not to change
which letters are linked to which, and the number of
links made with each letter, in Figure .




6.

e N
F X=? y=7
Il. sekilde x ve y nin yerine gelmesi gereken harfleri | I

bulunuz,
Find the letters that correspond to x and y in Figure II,

Il. sekilde xvé y erine gelmesi gereken harfleri
bulun

Find the letters that correspond to x and y in Figure I,

rrespond to x and y In Figure .

|

y

> T UwW »r Z




10.

B 2013-SUYOS
8. - 10. sorularda, soru isarotinin yerine getirilmesi 11. - 14. sorularda, verilen gekil dizis snru"_’
gereken sekli bulunuz. isaretinin yerine getirilmesi gereken sekll .
In questions 9 - 10, find the figura to replace the e,
question mark. In questions 11 — 14, find the figure which the
question mark stands for in The given figure ™
i |sequence. 4
- )
:l % - 3 11. . /
/ ?| / . . Iv.

C)

20

T




14'

2013-SUYOs
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15.-16. sorulardaki (a.) say dizisinde a =2, a3, a;=
ve n24 i¢ln a,= a,,- a,,. 8 ;olarak veriimistir
In questions 15.-16.(a+s) number sequence is given as
a=2,a=3,a;2andn24,a = 2,8 4 &,

L] =’J
18, a+a+a="

A1 B) 2 C) 4

D)6 E)8

16. a_+a_+a +a =7
A0 B) 4

D) 12

>

17. ve 18. sorularda, |I. gruptakl cuk
leribirer rakamla gdsterilersk l l say
larelde edilmiﬁtlr Soru lqaroliyle Irtila
sozcigiin hangi sayiyla gdsterildigini bul

In gquestions 17 and 18, the bers in 0up II
stand for the words in gr? en eac lefter
has been coded with a specifi ic nu l. Find the
number which con*esponds to the wo

indicated
by the question mvb\

N e
v,

17. L

2575 6595

ACIK=7

2434
D) 4681

B) 2575 C) 4147
E) 6595

18. L. i,
KASA J 1232 1289 7282

YAKA | 1565 4212
KUTU[

MALA
KA LE

~

MALA=?

A) 1232 B) 2787
D) 2787

C) 7282
E) 7828
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19. ve 20. sorulan agagidaki tabloya gore cevap-| | 21 x a /b 4 )
layiniz. 1
a

Answer questions 18 and 20 in accordance with
the table given below. b 6at]

Yukaridaki
pozltif birer sa
gore, b

ma tablosunca a've b harfleri
ma_yerine kullanilmigtir. Buna

mo|lo @ » >
WiFm Qg ;>

o

oo s> mo
:[r‘ﬁ"uom:»c

Ow>» Mmoo
P mjo|ofw| m

Tabloda A igleminin gdrevi belidenmigtir.

The cperation of A is established in the table
AAD=A A

BAC=A
19. (AAB)A(CADI=7 5

AA BB OC MDD EEN <

E)E’




22.

B 2013-S0Y0S

22.-24. sorulan agagidaki tabloya gbre cevap- 23. / ' .
laytniz. - — y
Answaer questions 22.-24. in accordance with /\ s s : ’v
the table given below. | |
Q LR
Ao A |
A@®[ |Al_|O 5 V
aAQAOU. A ;
Al ARO[ T
!
AOIOOACE
OME/ \WMA®
Al N@®LIOA
He /[ TOAO 1.
L .
E Z=7
L
[L]g]
L=AG= | ve 1, yukandaki tablonun farkl birer pargasidir.
AG=0 - Buna g_gre, Il deki Y ve Z nin yerine asagsialglerheln
/ hangisi gelmelidir?
gmg'g%';?ﬁdm;gbxq‘"%‘%m r%ﬁ:&ﬂ% | and Il are different parts of the figure above.

Accordingly, which of the following combinations

hangisi gelmelidir? i should replace Y and Z in I1?

1 and |l are different panis of thé figura above, 4

Aoty wich e lopombaadors | Yz
o et ; LA O ®
A P B A B
B A L] c O &
c @& ; D) @ @
@

D’@ . ® -
IO}
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24. 25. . alAb=ab / )

OLIAC
%:;&ff Ofe i pmmiye
OATAIROM fIl. (2A3)3%5=? <
AOOIA W /\
ONME/ HA® - N
NERORER Bl gom. 1 3¢ )
me/ [CAO

s

I I. 35 | 36/G)B7 D)38 E)40

I v

R=A.T =1 EZ?'NC?_ /I"'\

%ue 27. sorularda, . gruptaki kilmelerin gekil-
I

birer rakamla gdsterilerek |Il. gruptaki sayi-
r elde edilmistir. Soru igaretiyle belirtilen k{-

»
v . J enin hangi sayiyla gosterildigini bulunuz.

, In questions 26 and 27, the numbers in group Il
| ve |l, yukandakl tablonun i1 birer pargasidir. stand for the sets of figures in group |, when each
Buna gare, Il deki E ve N nin y¢ asafidakilertlen | |figure has been coded with a specific numeral,
hangisi gelmelidir? Find the number which corresponds to the set of

the figures Indicated by the question mark.

’ )
of the figure above.

| and Il are different pa
llowing combinatians

Accordingly, which of the

should replace E and.hLin ||?
. 26. | I.

AO%) | 124 435 213

w* OO 542 314

L] B0

O A v

Al 1
OA O=?

L AY124 B) 213 C) 435

D) 542 E) 314



27. I I
KET A 2345 6425 5063
Carm 4310 1563
mE [¢le
ACAN
ADKA

mALIK=?
A3462  B)3642 C) 3624
D)3264  E)3426

28. - 30. sorular agafidaki sekle gére cevap-
layimiz,

the figure given below.

Yukandaki kll
ggn p;az!tif -

zenlemgigtir.
soruda fﬁm olablllr fa

lemler her soruda aymdir.

in gosterdi 5 sairllar her
bunlarla yamlacak ig-

The figure ab has been prganized according
to varigus operaflags usi our positive mtegers
by the , @, b, c and d. The integers

% ented by the letters may change from quostion
to ti

on, !ﬂl'jopefatlons to be done remain the

Answer questions 28 - 30 in accordance WIQ A%

3-SUYOS

/-' /
Yukanida verilen gekle gore, K kagtir?
According to the figure above, what is the value of K?

A)12 B)14 C) 16

D18 E) 20

= SO0
%

Yukarida verilen sekle gore, K+ L kactir?
Accordl
CofK

N2
|

? to tha figure above, what is the valus

B3 C4 D65 E) 6

10



31.
L -

i

ll

Yukandaki terazilerin ii¢ii de dengede oldufjuna
gﬁre, 1ll. terazide soru i%areti agafidakilerden.,
angisini gdstermektedir

which of the following does the question mark
for in the third scale?

All three scales above are in balance. Accnr%glﬁ A
an

® _
Naaa® BOGA ()b
D)e® E)-. &

>

B 2013-SUYOS

32.

_ )

Yukaraaki terazilerin Uicii de dengede oldufjuna
gbre, 1ll. terazide soru igfarail agafidakilerden
hangisini gdstermektedir

three scales abave are in balance. Accordingly,

whikh of the following does the question mark stand
for i the third scale?

A A® B) AA®O®

Deee® Eymm

C)e®A

11
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+ » _
\ "
."/
@, k 4
A) ; G
Yukaridaki terazilerin t‘n;tl de dengede oldufjuna ?
gore, Il terazide soru hjzare“ asagidakilerden R P e
hangisini gastermekted . / 6
All three scales above are in balance. Accordingly, -
which of the following does the question mark séd
far in the third scale?
36.
NAAas Bleeee (e M - Bl

D) AA E) mA &

1)

Z.\
A
A

= b

Agafidakilerden hangisw.s.tlug!k ir kiipiin | il + f—]"] — 9
agilimidir. 5. '__‘—l l 1
(Which one is the ;
y A) B)
A) ' — -

I

(- [] ?

12
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soru isaretinin yerine hangi seklin getiriimesi

37. - 40. sorutarda, veriten gekil matrisinde 38. / ,W
gerekti§ini bulunuz.gereken gekli bulunuz. | : :

In questions 37. - 40. find the figure which the
question mark stands for in the given flgure
matrix,

A w
A
5

37.

(I,

/\
o
8

? >
e
> & D E)

A;Q m@:\ C;@ 'I EE[SI E

QF
M

-







41,
J3.6l +4/1.69
T = = ?
J1,44 - Jo.64
A)8 B)-8 ()04
42,
% = % Ja—b=—

D)0.8

44.

log, 2 +log, 3~log,27 =1

15

z)
B\
) 7

2013-sUY0S

—=

g
p

.

SR
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47. 50,
L, | e .
4 \4 2)\3 6) 6 fx)=1 4 ¢
1 | ! L. - D)—In;éix
A- B= ©- D= B- .
s My My g |

48.
x=2yp=-1
=
20+ y=13 }

AN2 B)-12 C)¥

<
% . 4 5 4
f A)—In[;) B)ln[:] C)ln[g)

4 3
D)n [;) E)lu[z}

. x12xCosx
lim—m—mm=
=0 3 Sinx Cosx

/{s"fr}'ig'r- 2 ?

A)-2 Bl  C)Y Dyl L)2

K ‘ A "'\_: .
A) A{)‘ﬁ/ C)Sin1S" DI E)-1l

16



B
53,
y=(v +l}jm
¥(0)=2
A)-2  R)-1 (&) D) E)2

M. IC
.f(x] = 2,"2 ?1 E g(t) - _r_2 : l'.\. './/.4

'3

(fog™)(2)=2

AN3  BJIS

2013-SUYOS

56.
IC{J.?{!’}J:
Jim e =Y
by, .r
17
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57.

. 7
3.5in—Cos—="1
J_mﬁ 036

A BIW3/2 Of2 D)3 E)f4

18



63.
¥ (.t)='~.Casx|
o 3 5
f[4]“
A =22 B-12 00 D)2 EW22
64.
i
a i /-\
A)-= BY OY2 DI
65. (
/e .0 merkes.
CcBLQ
|(_'Bl: =2em
,Alf—'ﬁr.wl
(/
A B)7 C)8 D)9 E)10

DC| -

19

B)6
3 e
‘-‘/" ‘
Bx"
|AH| |BC]
|BC| = t4em
|AD’ = Sem
A)3S R)40

2013-SUY0s

«%Em =4¢m, |AB| —12em, IAEI —6em

x=1
oy D)8 E)9
i
FF -’ju.\‘-‘w.‘
i )
% B
i N
aH s : g

A(ABD)+ A(ADC) =7cm’

)42 D)5 E)54
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68. 70.

Sin7 Cos1"

ooy ot M

Sin83" Cos97°

AYO
aR
\ ) "
|DC], -']'AFl =3em
| = 17em
CD|=|AD
N (cp}-|ao)
BI6Y Q44 DGO E)RI
O merkez A 'Qx\
IOC | =9cm \ s
|AC| = 9em )\ Mg
E \“-‘
A\ B
o :
' B D c
. 4] ]
Ll |k - B
|BD|=|nc|
| |AD|-3|a¥]|
|AC|=130
|EF|-2

A)S B)6 Cy7 D)8 E)9

20



